MIA M FDADE MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

- YKK AP America Inc.
5630 Gwaltney Drive
Atlanta, GA 30336

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Model 20 D Narrow Stile” Outswing Aluminum Storefront Door w/Panic Exit Device .

APPROVAL DOCUMENT: Drawing No. 20D, titled Series “YES 45 FS” Aluminum Flush Glazed Storefront
System, sheets 1 and 2 of 2, dated 09/18/96, with revision B dated 8/1/00, prepared by manufacturer, bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and expiration date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 00-0705.01 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 03-0801.05

Expiration Date: August 07, 2008
Approval Date: August 29, 2003
Page 1




YKK AP America Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1.  Manufacturer's die drawings and sections.
2.  Drawing No. 20 D, Sheets 1 through 8 of 8, titled “20D Door” dated 09/18/96 with revision C
dated 08/24/98, prepared by manufacturer.

B. TESTS (submitted under previous approval # 98-0421.08
1.  Testreports on 1) Air Infiltration Test, per PA 202-94
2) Uniform Static Air Pressure Test, Loading per PA 202-94
along with installation diagram of an aluminum out-swinging storefront system and storefront
doors prepared by National Certified Testing Laboratories, Test Report No. NCTL-210-2007-
2 (S), dated 01/05/98, signed and sealed by Barry D. Portnoy, P.E.
2.  Testreports on 1) Large Missile Impact Test per SFBC, per PA 201-94 (Panic exit device)

2) Cyclic Wind Pressure Loading per SFBC, per PA 203-94 (Panic exit)
along with installation diagram of an aluminum out-swinging storefront system and storefront
doors prepared by National Certified Testing Laboratories, Test Report No. NCTL-210-2007-1
(I)(C), dated 01/05/98, signed and sealed by Barry D. Portnoy, P.E.

3. Testreports on 1) Air Infiltration Test, per PA 202-94

2) Uniform Static Air Pressure Test, Loading per PA 202-94

3) Water Resistance Test, per PA 202-94

4) Forced Entry Test, per SFBC 3603.2(b) and PA 202-94.
along with installation diagram of an aluminum out-swinging storefront system and storefront
doors prepared by National Certified Testing Laboratories, Test Report No. NCTL-210-1872-4,
5,6 (S) (F), dated 09/24/96, signed and sealed by Barry D. Portnoy, P.E.

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by Tilteco, Inc., dated 10/21/96, revised
on 5/14/97, signed and sealed by Walter A. Tillit, Jr., P.E.

D. MATERIAL CERTIFICATIONS
1. None

E. STATEMENTS
1. Letter from YKK AP America Inc. stating that the product has not changed since it was last
approved AND that the product engineer, Walter Tillit, Jr., P.E., is still in the engineering
business, letter dated on June 27, 2000, signed and sealed by Jose I. Archila, Product
Development Manager.
2. Letter from manufacturer stating that the product has not changed and that the engineer is still
practicing engineering, dated 08/01/03 and signed by Jose 1. Archila.

F. OTHER
1. Notice of Acceptance No. 00-0705.01, issued to YKK AP America Inc. for their Series

“Model 20D (N.S)” Outswing Aluminum Storefront Door w/Panic Exit Device — Non-Impact,

approved on 10/01/98 and expiring on 08/07/00.
Manuel Perez P.E.
Product Control Exa BY
NOA No 03-0801.05

Expiration Date: August 07, 2008
Approval Date: August 29, 2003




|

: . S
2 3/4" oy 177 17T 2 3/47 2 3/4" 1 77 "o 2 3/4" 3 3/4" (170 17" 17" | 17" 3 3/4" A_{MTRO-OADC SIUAMDN AL s
MAX. . ) . <L . MAX. . @ S | METRO-DADE REQUIREMENT | | 8/24/981
N NI o NE
o) oY NG YN
I 7 7 o T ? i I T -\ SR i e
| | | | | | | | |
1 1 1 i ! ' 1
o— HF—r—= — o— 1 — == Ho— HE—T—— ——=h+—o
y ®, _ . ® e 5 , N ® A INDEX_OF DRAWINGS
V. / b4 \ % ol /4 / \ % DESCRIPTION SHEET #
<> 3 @ <> @ INDEX_& ELEVATION 1
o— AL 7 i R N o I N I AN 4o Ui 7 N . /C\[ELEVATION 2
~ ' T . DOOR DETAIL 3
6) ©, ' | X = A 15 | A\[FLUSH BOLT DETAIL 4
. el | 2| =, : Clg|e MATERIAL/PART
/ s \ B E B e pudd /(lNACTIVE LEAF) (ACT]VE LEAF) N SIS LIST FOR SINGLE DOOR 5,6
y p— i I— \ :D . / e — =° =l MATERIAL/PART -
o— K~ stanparo — T [T —© o— H P _sTanoarD —PIT —© T 3| B TO TN stanparo 7 SNCUSTANDARD AT —° I 9| 5] LT FOR PAIR DOOR -
\PUSH/PULL | | F’USH/PULL/_ m] S \PUSH/PULL i PUSH/F’ULL/‘ m S|
S @ o & R =C|’ ! o \ o L =CIJ -
4 49 |~ P © 5 d |~ g
o— +t H —o O— - — A 1 —° ‘ 40— 4+ A & | —o
3/8" LO ) 30 3/8" D.L.O. ) 30 3/8" D.L.O. 30 3/8" D.L.O.
: :
®, ; a° ? L e
N / \
oO— -+ %% 4l —0 O— 4+ # ¥ EE -T —) —t— O— —++ £ ! ! l /r lr - —O
; : : Ay ! ; ! " ! : 4 : PRODUCT RENEWED
I ] I I ] ‘ I ! I l | s complying with the Florida
: : Buiding Code
J U S - /O G| - Lo L L R L Accepignes No. 0 .05
5 3/4" ||| 147 | l 5 3/4" 5 3/4 147 | 147 5 3/4" 5 3/4" | 14 | 14m |8 14 | 14| 5 3/4" Expiration Date 08
VTS ‘ MAX. FoMax. ' ‘ ! ! By /U2 AL,
. L . . , . y Mi 2d PmdnctCun(ml
1 3/4 3'—0" D.O.W. 1 3/4 1 3/4 3'—0" D.OW 1 3/4" 1 3/4" 6'—0" D.0.W. (MAX) 1 3/4" mﬁg:' g J
(MAX) (MAX)
3/8" 3'-3 1/2" WIDE 3/8" 3/8" 3'-3 1/2" WIDE 3/8" 3/8" 6'—3 1/2" WIDE 3/8" :
RHR LHR APPROVED AS COMPLYING WTH THE
A TYPICAL ELEVATIONS — SINGLE DOORS A\ TYPICAL ELEVATION — PAIR OF DOORS SOUTH FLORIDA 5_‘;}“”“‘3 CoBE
SCALE: 1/2" = 1'=0" SCALE: 1/2" = 1'-0" owie AV 05T £3, e
=g
DUCT CONTROFDIVISION
— ALL SIZES NOTED ARE MAXIMUM SIZES: SIZES SMALLER IN WIDTH & HEIGHT ARE PERMITTED. BUILDING C;DE COMPLIANCE OFFICE
— CAULK JOINTS AND SHIM SPACE: MAX. 1/4” (FOR TOP) MAX. 3/8” (FOR VERT.) acoepTANCE N0, 90 =0 798 -0/
A DOOR PARTS LIST PER LEAF DOOR TYPES ZQDES!GN WHERE WATER INFILTRATION|WHERE WATER INFILTRATION ; -
QTY[ _PARTE DESCRIPTION STANDARD| _PANIC_ |- |PRESSURE|REQUIREMENT IS NEEDED |REQUIREMENT IS NOT NEEDED| W<
CLASS LEGEND | 1_{E1=0051 | PULL PLATE | _ Q_l1l_®L YKK AP AMERICA INC.
1 ]E1=0055 | PUSH BAR_ _ _ _ _ _ _ _ | _ o_1_ . POSITIVE NOT APPROVED +65 PSF e TN, D as6
D= 3/16" FuLLY TEMPER GUASS | B[] Poa0s T PANIC PULL 9 NEGATIVE NOT APPROVED ~65 PSF o e
| 1_|E1-0302 | BOTTOM PNVOT | _ Q_1_9Q_ ] ' 20D DOOR 1/24
- - - T
ANCHOR FASTENERS ; ?1 _%gg? .F[SSSSNBOJLTS (RACTVE) _ 8 Q A FRAME PARTS UST PER LEAF DOOR TYPES SINGLE
— — —« -[7] THRESHOLD H o e S e e 25 B S b — 3 e o o e QTY| PART# DESCRIPTION STANDARD| PANIC oEscReTON .
ANCHOR 1 HOOK LOCK (ACTIVE) @) - INDEX OF DRAWING & DOOR ELEVATION
#14 x 1 3/4" FHSMS (AB) '_2‘_ P—56800 | KEY CYLINDER Ccﬁvj ————— 6 —————— . | 1 [E1-0300 | _BQITQM_PLYQI.(_) ______ . Q L _Q_
OR 1/4" X 2 1/4" FH TAPCON 2 | P=2601 | CYLINDER TRIM RING (ACTVE) | _O | .. _ | | 1 [E1-0301 | BOTTOM PVOT(L) _ _ | ¢ Q _ L o _ ANODIZED OR PAINTED
— — —O -[Z] HEAD, JAMB MULLION ANCHOR | AA[1 | P-2323 | EXIT DEVICE _ _ R Y 1 |E1-0303 } TOP PIVOT Q Q ey =
#14 x 3 1/2 FHSMS (AB) /ﬁ\ 1 P-2362 EX]T DEV]CE ——————————— (:;).2“ 1 E1-0319 FLUSH BOLT STRIKE (FOR PA)R) O m szo DM! Ty
OR 1/4” X 3 3/4FH TAPCON 1 _[E9—0332 | MEETING STILE COVER (ACTIVE)] O Q NOTES:® SELECTION PART (SELECT AMONG NUMBER GROUP) A0l PST |09/18/96 1 OF 8
1\ STSOWGS\ THE\ TD4M\ SF3C1 - 4.0WG




LY. DCSCAPTION v OATE
S JMETRO=QADE RCQ.(NCW SHT)| OHM | 3/24/98
Y = ¥ R
4 / - \ - 4 / \ - GLASS LEGEND
@ @ @ @ ®= 3/16" FULLY TEMPER GLASS
©/ 2 @ N\ 2 / N\ 2
= >3 7 (INACTIVE LEAF)| | || (ACTIVE LEAF) N =
//EXIT DEV|CE e~ ;o:: '/EXlT gezxglce \\ T A EXIT DEVICE\._J - \ x
N/ PARIC PULL Qj = W/ STO._PULLY/| 2 \\w/ PANIC PULL Q: A 2
\ ~ / ~ \ ©) / ~
N\ @ / @ \ s/
\ / ©) \ / @
N\ /
@ \\ £ . @ AN @
N 4 Y
\,
1.3/4" 3'=0" D.0.W. 1.3/47 1.3/4° 3'~0" D.0.W. 1.3/4" 1 3/4” 6'—0" D.0.W. (MAX) 1.3/4"
(MAX) (MAX) '
ELEVATIONS — SINGLE DOORS ELEVATION — PAIR OF DOORS
SCALE: 1/2" = 1'-0" SCALE: 1/2" = 1'-0" ) PRODUCT RENEWED
as complying with the Florida .
Buiding Code
Aceeptance Ne M 0s
s - - Expiration Date 8
1 3 i 3 @ S By_,
Y.
% s M \ e % d A y " Miamifade Product Control
/ - \ - / \ / - Divis}
S & S &
3 / '><? © \ E{ / \ ’>:<<‘ APPROVED AS COMPLYING WITH THE
exiT_Device Z EXIT_DEVICE 2 EXIT_DEVICE A S SOUTH FLORIDA BUILDING CODE
P=2362 ™ . /. p~2363 \| . /" poa3gs AL L N . oare Ayops7 03,2009
W/ STD. PULLF T —” w/ PANIC PULL T A w/ STD. PULL N T
/| N By <//
N Q 1 Q N 4 Q e
i a a < i 7 Q Fropuct contRal Divis o
\ a ° ol ’ o N\ (INACTIVE LEAF)| ol (ACTIVE LEAF) 7 o) BUILDING CODE COMPLIANCE OFFICE
N ! ! ACCEPTANCE No, 09 -0 7040/
® - ® - ® -
\ ‘ / N /
3 pyuc -
\ / ® \ / @ NASC
YKK AP AMERICA INC.
N\ /
@ S @ @ ST o
\\ // v/ SYSTEM 30:-2/24
200 DOOR oy
1.3/4" 3'—0" D.OW. 1 .3/4" 1.3/4 3'—0" D.O.W. 1 .3/4" 1.3/4" 6'—0" D.O.W. (MAX) 1.3/4" —— SINGLE
(MAX) (MAX) DOOR ELEVATION
ELEVATIONS — SINGLE DOORS ELEVATION — PAIR OF DOORS JRPSR—
SCALE: 1/2" = 1'-Q" SCALE: 1/2" = 1'-0" —
Lﬁ; 200 C
NOTE: ANCHOR SPACING, DESIGN PRESSURE, CAULK JOINT AND SHIM SPACE, OVERALL SIZE, AND DAYLIGHT OPENING (PANEL): SAME AS SHEET 1. ""m" W";H'L 0:;13/98 S;Ifo":a

@\ STSOWGS\, YHS\ TEMP\ SFBCZ—4.0WG




EA

-{/4' /SHIM SPAC
,f o AMax)

AL
R

AN
2\

/.

F14x3 1/2° FHSMS(AB) OR

1/4"x3 3/4° FH TAPCON
MIN. 1 3/8" EMBEDMENT

A

27X FOR
STRUCTURAL SUPPORT

A.SIA.N.QAB.D

PRODUCT RENEWED

ES—-0314

s compliving with the Florida

Buiding Code
Accepianee N@ ~Po8/.
Expiration Dale ‘

NDAR

E1-1054 — 2 1/2°LG AT
EACH ANCHOR SCREW

REY. DESCAwmOM [ A ]
A i
3 | REVISED APPUCATION AQLL 027184
< AQI] 8/11/98]
pome | % s
MAX,

Miam 52_00507 e
‘ DivisiGp A /
. = 17/32° 17/32° =
l , DETAIL = 7 L Loz £ A sz || N\ & d
" : 1/2 SCALE i £1-1054 ~ 2 1/27G AT fo—o4a1
q s g r ||~ TEACH ANCHOR SCREW /A\ A 1/4"x5% FH TAPCON ~d42 /
S 2 MIN. 1 3/8° EMBED
: . i / INTO MASONRY ! /
f $14 X 3 1/2° FHSMS(AB) !
13/8" EMBEDMENT L] . /
N £9-0402 E —0301 A gg%giii ﬁaz-oom !
: . / £2-0050 : !
3| £2-0051 A\ i . \ \_ i /
w L | / i
h H . N
" [~ gs-0303 l ' i 5
(u\d =,
i L =74 NS J
5 [T~ E2-0050 g ‘ £2-0050
a r~
- - STANDARD
A /
/ 3/32° 2 1/8" 19/32" 13/32" 2 1/8" 3/32°
3/8" SHIM SPACE | 1 3/4" D.0.W 1 3/4" | 378" srm seacd
4 1/2° {MAX) (MAX)
I DETAIL 3 . DETAIL
172 SCALE 1/8 172 SCALE
z 19/32" 2 3/16° 2 1/8" 19/32°
3 g |
E; ;“ Z{E§5
5 memA Ny e fase) |
- - M
4 : 18~ 0.C.
A\ oPTIONAL A APPROVED AS COMPLYING WITH TH
£9-0306 SOUTH FLORIDA BUILDING CODE
- — DATE. 7(;]‘ 021 2000
9-0339
BY ——
- 4 =
DETAIL 3 £9-0302  E£9-0332 £9-0329 ‘ﬁguar CONTROL DIV'S ON
9-0314 = oF A
: TANDARD A\ 1/2 scuE = \ e BUILDING CODE COMPLIANCE OFFICE
-]
3 sccepTance no. 00 = 07 9% of
0 #8x3/4" ' .
” 9~0348 FHSMS(AB)
o A /A STANDARD 18 K
u, B £9-o347 DETAIL ey
3 s \2) pe s b
» . AL
MINIMUM 1 3/8" EMBEDMENT 17/32° 17/327 ATLANTA, GEOGIA, 30336
AT ALL ANCHOR FASTENERS Z@L _Z—_'L_‘J & £2-0087 L__[_; & SCAE
UNLESS OTHERWISE NOTED _51:922\ 20D DOOR 1/2
GLEDING
~ SINGLE
~N -
#:gigw) DOOR DETAIL
18° 0.C.
/ /A\ 9PTIONAL A ANODIZED OR PAINTED
s DRAMNG NUMBER REVIRON
§14 X 1 3/4" FHSMS(AB) OR £2-0050 * 200 c
1/4°x2 1/4" FH TAPCON A PROVED B | R BT TOATE Ty
MIN. 1 174" EMBEDMENT A0l R.B.E. |09/20796] 3 OF 8

Gr\ SYSOWGS\ THS\ TEMP\ SFECI~4.0Wg



ul
s
%/\
23 ’
Iz
z3
.
>
l e
m__?-——T ~ = |
Ky & Y
.
N
g
-l = 1-0319
N E—\._
— \\\ﬁg;;%
+T14
cr= =z3 £9-0402 -
I \___
£1-0321 1 £2-0051
_+—#8-32x1/2" FH NS
‘tD /f"\/
= N>

5 1/4”

4 1/4"

E1-03)

{1

N

“\ E9-0302

»

& \[ H—1
\.
F

L 4 /27

FLUSH BOLT @ HEAD

DETAIL
1/2 SCALE

VS

11 11/16"

FLUSH

BOLT © THRESHHOLD

DETAIL
1/2 SCALE

4 /2

!?"\\1
Wy

£9-0302

o
— Nt L
L2} ~
\~
™ E1-0331
‘th [ {~#8-32x1/2" FH NS
f..\/
/A
E9-0348
/OPTIONAL
© —a E9-0347
o 4
> | § ' OPTIONAL
LI o e ; 4 E2-0067
i £9-0407

FLUSH. BOLT {
"
r r ———————— j
1 \& |
I I
| \ I
I !
/ | |
| \ |
[ | z
] | ét:,
| | .
(| (INACTIVE LEAF) | | \ z
| a
| / 5
] l \
| | -
l !
! |
| !
| |
| I
1 |
1 3/4" 6 — 07 D.0.W. (MAX.) 1 3/4"

TYPICAL ELEVATION

— PAIR _OF DOORS

SCALE: 1/2" = 1’

On

REY. DESCArTION (14 DATE
¢ {M-0ADE REQ, (NEW SHEETY | AQ(] a7117%]

PRODBUCT RENEWED

as complying with the Florida
Buiding Cete

Acceptancs Ne 03'080/ .05
Expiration mmba

ade Product Contral

Minmi
Divisi

"APPROVED AS COMPLYING WITH THE

'SQUTH FLORIDA BUILDING CODE
DAT wsy 03,209°
’ /Z-——-—‘/>
&

v d -
A PRODUCT CONTRBL Divis ON

'BUILDING CODE COMPLIANCE OFFICE

ACCEPTANCE N0, 99O 7050/

YKK AP AMERICA INC.
5630 GWALTNEY DRIVE
ATLANTA, GEOGIA, 30336
ST AL
200 DOOR 1/2
GLETING
SINGLE

FLUSH BOLT DETAIL

ANOQDIZED OR PAINTED

ORAMMNG NABER NOASION
200 C
APPROAD §Y | OFANN BY | GATE SHEET MO,
J.AL A0l [08/11/98 4 OF 8

Gr\ SYSOWGS\ YHS\ TEMP\ SFEC4—4.0WG



MATERIAL LIST PART LIST A merica
DESCRIPTION SHAPE # CUT LENGTH QTY CUT FORM REV [ DESCRIPTION | PART # |QTY]| MATERIAL | LENGTH {COLOR| REMARK REV]
TOP RAIL E9-0305 |[D.O.W.-47/16" 1 < FOR ALL DOOR >
JOINT CLIP E1-0308 | 2 6063-T5 FOR TOP RAIL
JOINT CLIP E1-0309 | 2 6063-T5 FOR BOTTOM RAIL
BOTTOM RAIL E9-0306 |[D.O.W.-47/16" 1 BACKER PLATE E1-0311 | 4 SPCC or SPHC FOR E1-0308 & E1-0309
RIV NUT P-5002 | 1 ALUMINUM 1/4" - 20 FOR ADJUSTMENT
LEFT STILE ES-0301 |[D.O.H.-13/16" 1 RIV NUT P-5003 | 2 STEEL 1/4" - 20 FOR PANIC PULL
GLAZING GASKET E2-0050 EPDM 2D.0.W. + 4 D.OH. - 46 1/4" ' c
SETTING BLOCK E2-0054 1 EPDM C
RIGHT STILE E9-0301 |D.O.H.-13/186" 1 GLASS SPACER E3-0004 2 POLYAMIDE C
ADJUSTABLE CAP E3-0005 1 POLYAMIDE C
SH BOLT SM3810| 6 STEEL 3/8" - 16 x 5/8" FOR JOINT CLIP
GLASS STOP (HORIZ.) E9-0314 [D.OW.-51/2" 4 PH MS PM2528 | 1 STEEL 1/4" - 20 x 1 3/4" FOR ADJUSTMENT
GLASS STOP (VERT.) £9-0314 |[D.OH.-71/16" 4 FH SMS (AB) FC1016 | 8 STEEL #10x 17 FOR DOOR ASSMEBLY
' LABEL E4-0002 | 2 ALUMINUM FOR HURRICANE DOOR
OP|GLASS STOP (HORIZ.) E9-0339 [D.O.W.-4 11/16" 4 [45°MITER CUT
OP|{GLASS STOP (VERT.) £9-0339 |D.O.H.-71/16" 4
S [RH PIVOT HINGE (BTM)| E1-0300 | 1 A380, ETC. Y |FOR DOOR FRAME
S |LH PIVOT HINGE (BTM)| E1-0301 | 1 A380, ETC. Y |FOR DOOR FRAME
BOTTOM PIVOT HINGE| E1-0302 | 1 | ALUMINUM ETC. Y |FOR DOOR
HEAD E9-0402 |[D.O.W. 1 PIVOT HINGE (TOP) E1-0303 | 1 A380, ETC. Y |FOR DOOR FRAME
TOP PIVOT HINGE E1-0304 | 1 | ALUMINUM ETC. Y [FORDOOR
THRESHOLD ES-0407 |D.O.W. 1 THRESHOLD CLIP E1-0307 | 1 6063-T5
HH-BOLT HM5610-W3| 4 STEEL 5/16" - 18 x 5/8" FOR PIVOT HINGE
RIGHT JAMB £9-0421 |[D.O.H. + 1 3/4" 1 FH MS FM1210 | 5 STEEL #12 - 24 x 5/8" Y {FOR PIVOT HINGE
FH MS FM 1208 | 2 STEEL #12-24 x 1/2° FOR THRESHOLD
LEFT JAMB E9-0421 |D.O.H. +13/4" 1 FHMS FM1210 | 2 STEEL #12 - 24 x 5/8" Y |FOR THRESHOLD CLIP
FH MS FM 1208 | 2 STEEL #12-24x 112" FOR THRESHOLD CLIP
AT. GASKET £2-0051 PVC 2D.0H.+D.OW. . C
PH SMS(AB) PC1216 | 4 STEEL #12x 1" FOR FRAME ASSMEBLY
op|DOOR SWEEP BASE E9-0347 [D.O.W. - 9/16" 1
op{DOOR SWEEP COVER E9-0348 |D.OW.-9/16" 1
0P|DOOR SWEEP GASKET | E2-0067 | 2 EPDM D.O.W. - 9/16" C
opP|PH MS PM 1008 | 8 STEEL #10 x 1/2" FOR DOOR SWEEP BASE
OUTSIDE VIEW | DEPTH |1 3/4"[SYSTEM 20D HURRICANE DOOR W/ SHUTTER
DESCRIPTION
SINGLE DOOR (1/2)
FINISH :
—t —t ANODIZED & PAINTED
~ kl N 4 NOTE: PRODUCT RENEWED REV DESCRIPTION BY DATE
a - Ny - SIZE MAX - DOW. =3-0 g;:z;:gééﬁgewam the Florida APPROVED AS COMPLYING WITH THE A |M.-DADE REQUIREMENT MLT | 06/09/97
v \. DOH 7.0 Asceptoncs Mo _@me SGUTH FLORIDA BUILDING CODE B |REVISED APPLICATION A.Ql | 02/27/98
( : M3 Expiration Date 40§ . 71,2008 DA?;%{%\M z2oc C |M.-DADE REQUIREMENT | DHM | 08/13/98
N\ e ) By :
— \.\ 2 /./ 3 Miamifade Product Control PT"D“CT COV}(PM ViSi mz
BN 4] - - GLAZING SINGLE Divist BUILDING CODE COMPLIANCE OFFICE NO. 20D | C
o | oan T e [ e T SELECTION PART LOOSE PART  AccepTanct N0, J2- 8704 .07 |CKOBY BY DATE SHEET NO.
— = * == L OPTION PART Y: COLOR INDICATED PST 09/18/96 50F8
FALISTDOOR\DADE.XLS (20DS1)




MATERIAL LIST PART LIST A merica

DESCRIPTION SHAPE # CUT FORM QTY NOTE REV |  DESCRIPTION | PART # [QTYL MATERIAL | LENGTH [COLOR] REMARK |REV]
< FOR STANDARD DOOR >
PULL PLATE E1-0051 | 1 6063-T5 11" Y
PUSH BAR/PLATE E1-0055 | 1 6063-T5 D.O.W./2-3.819" Y
PUSH BAR END CAP E1-0056 | 1 ZINC & ACETAL Y
SHOULDER BOLT P4192 | 2 STEEL 1/4" - 20 X 5/8"
SHOULDER BOLT P-4193 1 STEEL 1/4"-20X21/4" .
HWH BOLT HM2512-w3| 1 STEEL 1/4" - 20 X 3/4"
HWH NUT HM2500-W3[ 1 STEEL 1/4" - 20
< FOR PANIC DOOR >
S |PANIC PULL P4304 | 1 ALUMINUM Y
SHOULDER BOLT P4192 | 2 STEEL 1/4" - 20 X 5/8"
S [PULL PLATE E1-0051 | 1 6063-T5 11" Y
SHOULDER BOLT P4192 | 2 STEEL 1/4" - 20 X 5/8"
< FOR STANDARD DOOR >
HOOK LOCK P-2100 1 VARIOUS ADAMS RITE: MS1852S C
S {FACE PLATE (RH) P-2104 1 ALUMINUM Y »
S |[FACE PLATE (LH) P-2105 1 ALUMINUM Y
KEY CYLINDER P-2600 | 2 VARIOUS Y |TESKEY: ST-1300 C
TRIM RING P-2601 2 ALUMINUM Y :
SPACER E2-0060 | 3 | POLYETHYLENE FOR FACE PLATE [
FH MS FM1030 | 2 STEEL #10-32 X 17/8" FOR HOOK LOCK
FH MS FM 0806 | 3 STEEL #8-32 X 3/8" Y |[FOR FACE PLATE
< FOR PANIC DOOR > v
S |EXIT DEVICE , pP-2362 1 | VARIOUS Y DOR-O-MATIC: 1490 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
S |EXIT DEVICE P-2323 1 VARIQUS Y DOR-0O-MATIC: 1990 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
FLAT FILLER E1-1054 | *10 6063-T5 21/2" FOR DOOR JAMB
< ANCHOR SCREW >
S [(FOR STRUCTURAL SUPPORT) .
FH SMS (AB) FC 1428 | *3 STEEL #14 X 1 3/4" FOR THRESHOLD
FH SMS (AB) FC 1456 | *13 STEEL #14 X 3 1/2" FOR HEAD & DOOR JAMB
QUTSIDE VIEW | DEPTH [23/8"|SYSTEM 20D HURRICANE DOOR W/ SHUTTER
DESCRIPTION - S [(FOR MASONRY) :
SINGLE DOOR (2/2) FH TAPCON FS2536 | *3 STEEL 1/4" X 2 1/4" FOR THRESHOLD
FINISH FH TAPCON FS 1460 | *13 STEEL 1/4" X 3 3/4" FOR HEAD & DOOR JAMB
— — ANODIZED & PAINTED
S . 3 NOTE: * QTY FOR MAXIMUM SIZE U REV DESCRIPTION BY DATE
' yd \1 \\ \‘ SGE DO =T o f‘ﬁggﬁ; ﬁ‘;’éﬁfgo rda  VTROVED AS COMPLYING WITH THE | A~ |M-DADE REQUIREMENT | MLT | 06/09/97
/./ . \\ _ : DOH.=7-0" Bulding Cede 05 SCUTH FLORIDA BUILDING CODE B |REVISED APPLICATION A.Ol | 02/27/98
1K 5 Ml 3 g;‘g;gi;*g;;e 0 '080 y D.ATEW&Z 2 C |M.-DADE REQUIREMENT | DHM | 08/13/98
N S /o ’ B : - -
N \\ 3 /./ 3 ﬁa (Al /KEEUCTWRO%VEM
N - L - GLAZING SINGLE Divisils BUILDING CODE ComPLiancE Office | NO. 20D | C
1 374" Il D.0.w. $ 3/4° 1 3/4° 0.0.w, I[ 1_3/4° @ SELECT[ON PART LOOSE PART \CCE’DTANCE NO' gf:—'ﬂ"‘ze—d’_':e—/ CKD BY BY DATE SHEET No'
[OF] OPTION PART Y: COLOR INDICATED PST 09/18/96 6 OF 8
FALIST\DOOR\DADE.XLS (200S2)




MATERIAL LIST PART LIST

DESCRIPTION SHAPE # CUT LLENGTH QTY CUT FORM REV [ DESCRIPTION { PART # IQTYi MATERIAL { LENGTH [COLOR] REMARK REV]
TOP RAIL _ EQ-0305 |D.OW./2-47/186" 2 < FOR ALL DOOR >
' JOINT CLIP E1-0308 | 4 6063-T5 FOR TOP RAIL
, : R JOINT CLIP E1-0308 | 4 6063-T5 FOR BOTTOM RAIL
BOTTOM RAIL ES-0306 |D.OW./2-47/16" 2 ' BACKER PLATE £1:0311 | 8 | SPCC or SPHC FOR £1.0308 & £1.0309
, RIV NUT p-5002 | 2 ALUMINUM 1/4" - 20 FOR ADJUSTMENT
LEFT STILE £9-0301 |D.O.H. - 13/16" 1 RIV NUT P-5003 | 4 STEEL 1/4" - 20 FOR PANIC PULL
(HINGE SIDE) ) , GLAZING GASKET £2-0050 EPDM ADOW +8DOH. -92 1/2° c
~ |SETTING BLOCK £2-0054 | 2 EPOM c
RIGHT STILE £9-0301 |D.O.H. - 13/16" 1 WEATHER STRIP E2-0087 POLYPROPYLENE [D.OH. - 13/16" c
(HINGE SICE) ASTRAGAL £2-0066 | 7 NEOPRENE C
GLASS SPACER £3-0004 | 4 POLYAMIDE c
MEETING STILE £9-0329 |D.O.H.- 13/16" 1 ADJUSTABLE CAP E3-0005 | 2 POLYAMIDE c
(ACTIVE SIDE) '
SHBOLT SM 3810 | 12 STEEL 3/8" - 16 x 5/8" FOR JOINT CLIP
MEETING STILE £9-0303 |D.O.H.- 13/16" 1 PH MS PM 2528 | 2 STEEL 1/4"- 20 x 1 3/4" FOR ADJUSTMENT
(INACTIVE SIDE) , FH SMS (AB) FC 1016 | 16 STEEL #10x1" FOR DOOR ASSMEBLY
FH SMS (AB) FCo812 | 7 STEEL #8 x 3/4" Y |FOR MEETING STILE COVER
MEETING STILE COVER £9-0332 |D.OH.-13/16" 1 LABEL E4-0002 | 2 ALUMINUM FOR HURRICANE DOOR
GLASS STOP (HORIZ) E9-0314 |D.OW./2-51/2" 8 T
GLASS STOP (VERT)) £9-0314 |[D.OMH. -7 1/16" 8
OF GLASS STOP (HORIZ) ES-0335 (D.OW./2-4 114167 8 (45°MITER CUT RH PIVOT HINGE (BTM)| E1-0300 1 A380, ETC. Y FOR DOOR FRAME
OP|GLASS STOP (VERT.) E9-0339 [D.OMH.-7 116" 8 LH PIVOT HINGE (BTM)| E1-0301 | 1 A380, ETC. Y |FOR DOOR FRAME
i BOTTOM PIVOT HINGE | E1-0302 | 2 | ALUMINUM ETC. Y |FOR DOOR
PIVOT HINGE (TOP) E1-0303 | 2 A380, ETC. Y  |FOR DOOR FRAME
__ TOP PIVOT HINGE E1-0304 | 2 | ALUMINUM ETC. Y |FOR DOOR
{HEAD £9-0402 |D.OW. , 1 HH-BOLT HM5610-w3| 8 STEEL 5/16" - 18 x 5/8" FOR PIVOT HINGE
FH MS FM 1210 | 10 STEEL #12 - 24 x 5/8" Y |FOR PIVOT HINGE
THRESHOLD E9-0407 |DOW. 1 FH MS FM 1208 | 4 STEEL #12 - 24 x 112" FOR THRESHOLD .
RIGHT JAMB ES-0421 |D.OH.+13/4" 1
LEFT JAMB E9-0421 [D.O.H. +13/4 1 AT. GASKET £2-0051 PVC 2D.0.H. + D.OW. C
PH SMS(AB) PC1216 | 4 STEEL #12x 1" FOR FRAME ASSMEBLY
0p|DOOR SWEEP BASE E9-0347 |D.O.W./2-9/16" 2
op|DOOR SWEEP COVER E9-0348 [D.O.W./2-9/16" 2 OP|DOOR SWEEP GASKET | E2-0067 | 2 EPDM D.O.W. - 9/16" C
OUTSIDE VIEW | DEPTH [13/4"|SYSTEM 20D HURRICANE DOOR W/ SHUTTER oPlPH MS PM 1008 | 8 STEEL #10 x 172" FOR DOOR SWEEP BASE
DESCRIPTION
L .
— o PAIR DOOR (112)
) N 5! FINISH
Y N - ANODIZED & PAINTED
ya “\ . NOTE - REV DESCRIPTION BY DATE
(' \ : SIZE MAX:D.OW.=6-0" PPROVED AS COMPLYIND WNTH Thf A |M-DADE REQUIREMENT | MLT | 06/09/87
N, A g D.OH.=7-0" e B |REVISED APPLICATION A.Ol | 02/27/98
N, / C |M.-DADE REQUIREMENT DHM | 08/13/98
N /- : =
THRESHOLD N Ve . - 8.4, A2 55 -
——-—\\ L Y {vi_ag_zg!s,sg%rmguﬁf 0T o Comrn an :
GLAZING SINGLE viviggr | BUILDING CODE COMPLIANCE GFFICE NO. 20D | C
1 3/4" I 0.0.w, l I 1 ;[4" : SELECTION PART ‘ LOOSE PARTE \C’;"’-’MN(F»"“U 'ﬂé’ ﬂ_be¢f CKD BY 8y DATE SHEET NO.
' = , ' | [BF] OPTION PART Y- COLOR INDICATED o mm— " PST 09/18/96 70F 8
FALIST\DOOR\DADE.XLS (20DP1)




MATERIAL LIST

PART LIST

DESCRIPTION _SHAPE # CUT FORM QTY NOTE REV | DESCRIPTION [ PART# [QTY| MATERIAL | LENGTH [COLOR] REMARK REV]
< FOR STANDARDDOOR >
PULL PLATE E1-0051 | 2 6063-T5 11" Y
PUSH BAR/PLATE E1-0055 | 2 6063-T5 D.0.W./2 - 3.819" Y
_ PUSH BAR END CAP | E1-0056 | 2 | ZINC & ACETAL Y
SHOULDER BOLT P-4192 | 4 STEEL 1/4" - 20 X 5/8"
SHOULDER BOLT P4193 | 2 STEEL 174" - 20 X 2 1/4"
HWH BOLT HM2512-W3| 2 STEEL 1/4" - 20 X 3/4"
HWH NUT HM2500-W3| 2 STEEL 1/4" - 20
< FOR PANIC DOOR >
S [PANIC PULL P-4304 | 2 ALUMINUM Y  |WITH PANIC(EXIT) DEVICE
SHOULDER BOLT P4192 | 4 STEEL 1/4" - 20 X 5/8"
S |PULL PLATE E1-0051 | 2 6063-T5 11" Y
SHOULDER BOLT P4192 | 4 STEEL 1/4" - 20 X 5/8"
< FOR STANDARDDOOR >
HOOK LOCK P-2100 | 1 VARIOUS ADAMS RITE: MS1852S C
KEY CYLINDER P-2600 | 2 VARIOUS Y |TESKEY: ST-1300 C
TRIM RING P-2601 2 ALUMINUM Y
FLUSH BOLT E1-0331 | 2 VARIOUS Y
FLUSH BOLT GUIDE E1-0321 | -2 SPCC or SPHC Y
HOOK BOLT STRIKE E1-0318 | 1 |STAINLESS STEEL
FH MS FM1030 | 2 STEEL #10-32 X 17/8" FOR HOOK LOCK
FH MS FM 0808 | 4 STEEL #3-32X1/2" Y |FOR FLASH BOLT
PH MS PM 0806 | 8 STEEL #3 - 32 X 3/8" FOR FLASH BOLT GUIDE
FLUSH BOLT STRIKE | E1-0319 | 1 |STAINLESS STEEL FOR DOOR FRAME
< FOR PANIC DOOR > -
EXIT DEVICE p-2362 | 2 VARIOUS Y  |DOR-O-MATIC: 1490 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
EXIT DEVICE p-2323 | 2 VARIOUS Y  |DOR-O-MATIC: 1990 HURRICANE
(WITH STRIKE, GUIDE & SCREWS)
FLAT FILLER E1-1054 | *10 6063-T5 21/2" FOR DOOR JAMB
< ANCHOR SCREW >
S |(FOR STRUCTURAL SUPPORT)
FH SMS (AB) FC 1428 | *6 STEEL . #14 X 1 3/4" FOR THRESHOLD
QUTSIDE VIEW | DEPTH |2 3/8"|SYSTEM 20D HURRICANE DOOR W/ SHUTTER FH SMS (AB) FC 1456 | *15 STEEL #14 X 3 1/2" FOR HEAD & DOOR JAMB
., DESCRIPTION
— PAIR DOOR (2/2) S |[(FOR MASONRY)
I FINISH FH TAPCON FS 2536 | *6 STEEL 1/4" X 2 1/4" FOR THRESHOLD
J N - ANODIZED & PAINTED FH TAPCON FS 1460 | *15 STEEL 1/4" X 3 3/4" FOR HEAD & DOOR JAMB
4 N NOTE: * QTY FOR MAXIMUM S12¢ » APPROVED AS COMPLYING WiTH The REV DESCRIPTION By 2l
i Wl o: SIZE MAX.: D.OW.=6'- 0" gﬁ?ﬁgﬁ;?gggﬁfﬁm B SoUTH FLOTIDA BUILOING GO A |M.-DADE REQUIREMENT | MLT | 06/09/97
. P s DOH=7-0" Buiding Code P 2 o B |REVISED APPLICATION A.Ol | 02/27/98
N / Acceptance No.08 0801 05 D11 S C |M.-DADE REQUIREMENT | DHM | 08/13/98
.\\ /, Exgivaiion Date Bikend, 2005 1" \ﬂ/(z’ - s
AR | 1< ' & By PHLULE PRODUCT CONTROL DIy2#6% | C
— GLAZING SINGLE. v BUILDING CODE COMPLIANGE OFFICE NO. 20D
L3 L 0.0.W. l I ) i/u [S] SELECTION PARE f LOOSE PART  ACCEPTANCE no. - 970901 [ckoBY BY DATE SHEET NO.
_ OPTION PART Y: COLOR INDICATED PST 09/18/96 8 OF 8

F:\LIST\DOOR\DADE.XLS (200P2)




